................. .

STUD WALL ON RAISED CIP

CONCRETE CURB

@

150X500 RECLAIMED WOOD COLUMN
(SUPPLY ITEM) ON BASE PLATE

LOCKABLE STEEL SWING DOOR ASSEMBLY WITH RECLAIMED FIR
SLATS TO MATCH SIDING. DOOR BEHIND SLATS
TO BE PAINTED BLACK. PROVIDE HANDLE AND LOCK SET.

3 X WALL MOUNTED ELECTRIC HEATER.
SEE E-1

m RECLAIMED WOOD BENCH |

1400 3-2X10 PT BEAM ON PILES C/W

ADDITIONAL FULL LENGTH MATCHING PLY
COVERING SADDLE PLATE

(4

\L200/

(5 STEEL PANEL PNOT DOOR, TYP
\01/ '

LIGHT BROOM FINISH

% CIP CONCRETE SLAB FLOOR.
X

5

STARS UP TO
EVEL 2 DECK

C12 STAR STRINGER —<:

C12 BEAM WELDED TO
STAR STRINGERS\

HSS 102X102X6.4
FLUSH FRAMED
JOISTS, TYP. AT 2° O.C. '

1.02

© ,

C12 BEAM WELDED TO/

1.50

STAR STRINGERS

2.40

1.50

l0.38!

) 1.88

(STRINGER 0.C.)

S
oo il

\LOCKABLE STEEL SWING DOOR ASSEMBLY WITH RECLAIMED FIR

STEEL PANEL PIVOT DOOR, TYP.
SLATS TO MATCH SIDING. DOOR BEHIND SLATS W

TO BE PAINTED BLACK
PROVIDE HANDLE AND LOCK SET.

LEVEL 1 FLOOR PLAN AND FRAMING PLAN

2X10 PT JOISTS HUNG ON BEAM
@ 400mm 0.C.

4-2X10 PT BEAM
2X6 HORIZONTAL RECLAIMED FIR SIDING

STARS UP TO LEVEL 3 DECK —__|

C10X25 RAMP STRINGER \‘

~—

C10 BEAM WELDED TO
STAIR STRINGERS

..... _Ij

&

W250X54 BEAM WELDED/

TO COLUMNS

C10X25 RAMP STRINGER

.............. i

C10 BEAM WELDED TO
STAR STRINGERS

€12 STAR STRINGER

C12 BEAM WELDED TO
STAIR STRINGERS

\\
— [T ®
\» [~

=

\

DE

SIGN LOADS:

LIVE: 100 PSF THROUGHOUT
DEAD: 20 PSF
SNOW: 36 PSF AT HIGH ROOF

WEATHERING STEEL FEATURE WALL
[SUPPLIED ITEM]

C12 STEEL BEAM WELDED TO
COLUMNS AND FLUSH FRAMED

HSS 102X102X6.4 FLUSH FRAMED JOISTS, TYP.
AT 2" 0.C.

102X102X6.4 HSS POST WELDED

/—TO CHANNEL AND HSS BEAM

RECLAIMED BEAM WITH GALV STEEL ANGLE CONNECTIONS.

@. .............. _

] 1:50(at 24X36)

©

@

1.88 0381
W D
Q’,\/\Elj
/ HSS 102X102X6.4 FLUSH FRAMED JOISTS AT MAX.
7 voc
C12 STEEL BEAM
HSS 102X102X6.4 FLUSH FRAMED BTWN
FLUSH FRAMED< / | JOISTS AT EDGE OF GRATING
CANTILEVERED €10 STEEL BEAN . HSS 102X102X6.4 FLUSH FRAMED JOISTS, TYP.
FLUSH FRAMED AT 27 0C.
g C12 STEEL BEAM WELDED TO
COLUMNS AND FLUSH FRAMED
STAIRS DOWN TO ™
LEVEL 2 DECK I ~__ ™10 sTERL B FLISH FRAED
4 C12 STEEL BEAM
! WELDED TO COLUMNS
MILD STEEL FEATURE WALL,
C12 STAR STRINGER \ SUPPLIED ITEM
@. .................... - g~ / -\
= =—N
& C10 STEEL BEAM &
WELDED TO COLUMNS C1: W250X54
3 1:50 (at 24X36)
COLUMN BEAW
\/\ » T -
§ INTERNAL KNFE PLATE——\ [N o
4-5/8" DA THRU BOIS—— [N |
y 70 §7 INTERNAL KNIFE PLATE | <
O
4-5/8" THRU BOLTS \[\\O
A‘/ » 7
T0 " U-PLATE |
7 1
b
COLUMN
BEAM
A A
PLAN SECTION

@ RECLAIMED WOOD COLUMN/BEAM CONNECTION

150x500 RECLAMED WOOD BEAM (SUPPLIED ITEM)

|| ”/,//—2 PLY 2X6 SPF #2 HEADER W/ 2 PLY COLUMN
EACH END

|_——ROUGH OPENING FOR STEEL SWING DOOR

L1

<~ [||_L——"RousH 0PENNG FOR PVOT DOOR
/ || ——FRAME MIN 3 PLY 2X4 SPF COLUMN C/W
/ 2X4 TREATED WOOD BASE PLATE ANCHORED T

CONCRETE SLAB

_L——150x500 RECLAMED WOOD COLUMN (SUPPLIED ITEM)
SEE 7&8/L200 FOR BASE PLATE CONNECTION

2X4 TREATED WOOD BASE PLATE ANCHORED TO
CONCRETE SLAB

SINGLE 2X4 FASTENED TO
WOOD COLUMN

SHELTER FRAMING - EAST ELEVATION

2

4 1:50 (at 24X36)

©

! i
i 5/150600 RECLAMED WOOD BEAM (SUPPLIED ITEM)
/—2X4 DOUBLE TOP PLATE

TYP. 2X4 SPF #2 @ 16" 0.C. STUD WALL
W/ MATCHING DOUBLE TOP PLATE AND
SINGLE P.T. BOTT PLATE

150x500 RECLAIMED WOOD COLUMN (SUPPLIED ITEM)
/ SEE 7&8/L200 FOR BASE PLATE CONNECTION

2X4 TREATED WOOD BASE PLATE ANCHORED TO
CONCRETE SLAB

AN

/—4"X4" RAISED CONCRETE CURB AT WALL BASE

SHELTER FRAMING - WEST ELEVATION

S

6 1:50 (at 24X36)

/

p

5

STAIRS DOWN TO LEVEL 1
RECLAIMED WOOD BEAM

-

102X102X6.4 HSS POST FOR
SLAT WALL AND GUARDRAIL MECHANICALLY FASTENED

PROVIDE SHOP DRAWINGS SEALED BY ENGINEER IN
PROVINCE OF MANITOBA

1 010 STEEL Bk RECLAMED WOOD COLUMN
o M
2X10 SPF JOIST FLUSH FRAMED
// MECHANICALLY FASTENED TO RECLAIMED WOOD BEAM 10 BEAMS @ 16° 0.C. TYP
1 /// EEW I% DREV\g)E(I)\?E BSETAE%L NoTeH / \ TOP OF STRUCTURE TO SLOPE TO DRAN
[ /
— Z \ N
\ \

102X102X6.4 HSS POST FOR
SLAT WALL MECHANICALLY FASTENED
TO DECK JOIST AND WELDED TO UPPER HSS BEAM

_—

UPPER 102X102X6.4 HSS BEAM ALONG TOP OF SLAT E
WALL AND GUARDRAIL. WELDED TO POSTS AND
CHANNEL AT SECOND LEVEL DECK

—-

LEVEL 2 FRAMING PLAN

5 YY.MM.DD -
4 YY.MM.DD -
3 YY.MM.DD -
2 YY.MM.DD -
1 16.04.15 - ISSUED FOR CONSTRUCTION
No. DATE REVISION / ISSUANCE
Seal
LR 3] v T?\ph‘
A "‘Q‘\a@g
Wl ;
4&:“ (}i
4 W

Lrmbhatiy Vifenfe ;".-'*\ Touler
thiZ'ﬁbt}tﬂ YISO ity iG] vﬁ

ber No. 141

1:50 (at 24X36)

® @

150x500 RECLAMED WOOD BEAM (SUPPLIED ITEM)

2 PLY 2X6 SPF #2 HEADER W/ 2 PLY COLUMN
EACH END

/ /—2X4 DOUBLE TOP PLATE

[ \
2X DOVBLE TOP PLATE

CONTINUOUS 2X4 SPF
@ 16" 0.C. STUD WALL
f OR EQUAL SPACED

!

/—TYP. 2X4 SPF #2 @ 16" 0.C. STUD WALL
W/ MATCHING DOUBLE TOP PLATE AND
SINGLE P.T. BOTT PLATE

/—150x500 RECLAIMED WOOD COLUMN (SUPPLIED ITEM)

/ SEE 7&8/L200 FOR BASE PLATE CONNECTION

|_—— 2X4 TREATED WOOD BASE PLATE ANCHORED TO

_ A CONCRETE SLAB

\\ROUGH OPENING FOR STEEL SWING DOOR
150x500 RECLAIMED WOOD COLUMN (SUPPLIED ITEM)
SEE 7&8/L200 FOR BASE PLATE CONNECTION

'—ROUGH OPENING FOR PIVOT DOOR

SHELTER FRAMING - SOUTH ELEVATION

Seal

Consultant

WOLF ROM ENGINEERING LTD.

CONSULTING ENGINEERS 345 WARDLAW AVENUE, WINNIPEG, CANADA R3LO0L5 PHONE: (204) 452-0041 FAX: (204) 284-8680

=APEGN

Wolfrom Englneering Lid.
No. 1130 Expiry: April M, 2018

1:50 (at 24X36)

©

__——150x500 RECLAIMED WOOD BEAM (SUPPLIED ITEM)
| _—— 2X4 DOUBLE TOP PLATE

/_TYP. 2X4 SPF #2 @ 16" 0.C. STUD WALL
W/ MATCHING DOUBLE TOP PLATE AND
SINGLE P.T. BOTT PLATE

/—150x500 RECLAIMED WOOD COLUMN (SUPPLIED ITEM)
SEE 7&8/L200 FOR BASE PLATE CONNECTION

2X4 TREATED WOOD BASE PLATE ANCHORED TO
- CONCRETE SLAB

|_——4"X4" RAISED CONCRETE CURB AT WALL BASE

SHELTER FRAMING - NORTH ELEVATION

Client

©

Winnipeg

Project

ST. VITAL PARK
TOBOGGAN SLIDES & SHELTER

Sheet Title

FRAMING PLAN

1:50 (at 24X36)

BID OPPORTUNITY Sheet
# 339-2016

Date I : O :
APRIL 2016




